



- 1

:

-

-

-

-

-

-

. A

A

مثال :

. 6 1

6 5 4 3 2 1

$$E = \{1, 2, 3, 4, 5, 6\} :$$

$$\{2, 6\}^*$$

$$. 6 \quad \{2, 6\} \quad 2$$

$$\{2\}^*$$

:

6

$$. \{6\}, \{5\}, \{4\}, \{3\}, \{2\}, \{1\}$$

- 2

:

$$E = \{x_1, x_2, \dots, x_n\} :$$

$$: \quad P_i \quad E \quad x_i$$

$$P_1 + P_2 + \dots + P_n = 1$$

x_1	x_2	\dots	x_n
P_1	P_2	\dots	P_n

$$p_1 = p_2 = \dots = p_n = \alpha$$

$$\alpha = \frac{1}{n} \quad ; \quad n \alpha = 1$$

$$p_1 = p_2 = \dots = p_n = \frac{1}{n}$$

مثال :

$$P(\{1\}) = P(\{2\}) = P(\{3\}) = P(\{4\}) = P(\{5\}) = P(\{6\}) = \frac{1}{6}$$

x_i	1	2	3	4	5	6
P_i	$\frac{1}{6}$	$\frac{1}{6}$	$\frac{1}{6}$	$\frac{1}{6}$	$\frac{1}{6}$	$\frac{1}{6}$

- 3 :

$$E = \{x_1, x_2, \dots, x_n\} \quad ; \quad E$$

x_1	x_2	\dots	x_n
P_1	P_2	\dots	P_n

E A P

: $P(A)$

$$A \quad x_i \quad P_i \quad P(A) \quad (2)$$

. A

:

$$P(\phi) = 0 :$$

. 0

: 3

$$P(\{3, 6\}) = P(\{3\}) + P(\{6\}) = \frac{1}{6} + \frac{1}{6} = \frac{1}{3}$$

:

$$P(E) = P_1 + P_2 + \dots + P_n = 1 : \quad P(E) = 1 \quad (1)$$

$$0 \leq P(A) \leq 1 : \quad A \quad (2)$$

$$k \quad A \quad (3)$$

$$p(A) = \frac{k}{n} :$$

:

$$P(A) = \frac{\text{عدد الحالات الملائمة لحدوث } A}{\text{عدد الحالات الممكنة}}$$

:

$$P(E) = \frac{1}{6} + \frac{1}{6} + \frac{1}{6} + \frac{1}{6} + \frac{1}{6} + \frac{1}{6} = 1 :$$

-

. 1 0

-

2

-

$$P(A) = \frac{4}{6} = \frac{2}{3} : \quad A = \{3, 4, 5, 6\} :$$

. B A :

$$B \quad A \quad A \cup B : \quad (1)$$

. B A

B A

$$A \cap B : \quad (2)$$

. B A

$$A \cap B = \phi : \quad (3)$$

$$P(A \cup B) = P(A) + P(B) - P(A \cap B) \quad (4)$$

$$: \quad B \quad A \quad A \cap B = \phi$$

$$P(A \cup B) = P(A) + P(B)$$

$$A \quad \bar{A} \quad E \quad A \quad \bar{A} \quad (5)$$

$$. A \cup \bar{A} = E :$$

$$A \cup \bar{A} = E : \quad P(\bar{A}) = 1 - P(A) \quad (6)$$

:

:

. " 3 " : A *

. " " : B *

. " 3 " : $A \cup B$ *

. " 3 " : $A \cap B$ *

. " 3 " : \bar{A} *

. " 3 " : C

$$A = \{4, 5, 6\} , C = \{1, 2\} : -$$

$$A \cap C = \Phi : \quad C \quad A$$

$$P(A \cup C) = P(A) + P(C) :$$

$$P(A \cup C) = \frac{3}{6} + \frac{2}{6} = \frac{5}{6} :$$

$$A = \{4, 5, 6\} , B = \{2, 3, 5\} , A \cap B = \{5\} : -$$

$$A \cap B \neq \Phi :$$

$$P(A \cup B) = P(A) + P(B) - P(A \cap B) :$$

$$P(A \cup B) = \frac{3}{6} + \frac{3}{6} - \frac{1}{6} = \frac{5}{6}$$

$$P(\overline{A})=1-P(A)=1-\frac{3}{6}=\frac{3}{6}=\frac{1}{2}$$

$$E = \{x_1 , x_2 , \ldots , x_n \} :$$

$$\{t_1 , t_2 , \ldots , t_k \} \quad (k \leq n)$$

$$t_i \quad (T = t_i) \quad 1 \leq i \leq k$$

	t_1	t_2	\ldots	t_k
	$P(T = t_1)$	$P(T = t_2)$	\ldots	$P(T = t_k)$

$$\{ 1 ; 2 \} , \{ 1 ; 3 \} , \{ 1 ; 4 \} , \{ 1 ; 5 \} , \{ 2 ; 3 \} \\ \{ 2 ; 4 \} , \{ 2 ; 5 \} , \{ 3 ; 4 \} , \{ 3 ; 5 \} , \{ 4 ; 5 \}$$

$$\{3,4,5,6,7,8,9\}$$

$$\begin{aligned}
 P(T=3) &= \frac{1}{10} & ; & & P(T=4) &= \frac{1}{10} \\
 P(T=5) &= \frac{2}{10} = \frac{1}{5} & ; & & P(T=6) &= \frac{2}{10} = \frac{1}{5} \\
 P(T=7) &= \frac{2}{10} = \frac{1}{5} & ; & & P(T=8) &= \frac{1}{10} \\
 P(T=9) &= \frac{1}{10}
 \end{aligned}$$

T	3	4	5	6	7	8	9
P _i	$\frac{1}{10}$	$\frac{1}{10}$	$\frac{1}{5}$	$\frac{1}{5}$	$\frac{1}{5}$	$\frac{1}{10}$	$\frac{1}{10}$

- 5

$$P(T = t_i) = P_i$$

μ

$$\mu = t_1 \cdot p_1 + t_2 \cdot p_2 + \dots + t_k \cdot p_k$$

$$\begin{aligned}
 \mu &= 3 \times \frac{1}{10} + 4 \times \frac{1}{10} + 5 \times \frac{2}{10} + 6 \times \frac{2}{10} \\
 &\quad + 7 \times \frac{2}{10} + 8 \times \frac{1}{10} + 9 \times \frac{1}{10}
 \end{aligned}$$

$$\mu = 6 \quad ; \quad \mu = \frac{60}{10}$$

: - 6

$$V = p_1 \times (t_1 - \mu)^2 + p_2 \times (t_2 - \mu)^2 + \dots + p_k \times (t_k - \mu)^2$$

:

:

$$V = \frac{1}{10}(3-6)^2 + \frac{1}{10}(4-6)^2 + \frac{2}{10}(5-6)^2 + \frac{2}{10}(6-6)^2 \\ + \frac{2}{10}(7-6)^2 + \frac{1}{10}(8-6)^2 + \frac{1}{10}(9-6)^2$$

$$V = \frac{30}{10}$$

:

$$V = \frac{9+4+2+0+2+4+9}{10}$$

$$V = 3$$

:

: - 7

$$V \quad \sigma = \sqrt{V}$$

:

$$\sigma = \sqrt{V} = \sqrt{3}$$

$$\sigma \approx 1,73$$

:

تمارين و مشكلات

1

1 6

-1
-2
-3
-4
-5

2

1 6

3

x_i	-6	-5	-4	4	5	8
p_i	0,1	0,2	0,05	0,4	0,05	0,2

-1
-2

4

F

P

5

6 1

6

5 1

5

6

7

$$p(A \cup B) = 0,6$$

: p B A

$$p(B) = 0,7 \quad P(A) = 0,05$$

$$p(A \cap B) :$$

8

$$E = \{1 ; 2 ; 3 ; 4\} :$$

E

1	2	3	4
P₁	P₂	P₃	P₄

$$p_4 , p_3 , p_2 , p_1 :$$

3

9

6

S

-
-
-
-

10

S

S

-1
-2
-3
-4



$$E = \{1 ; 2 ; 3 ; 4 ; 5 ; 6\} \quad -1$$

: -2

$$P_6, P_5, P_4, P_3, P_2, P_1 \quad 6 \ 5 \ 4$$

$$\frac{P_1}{1} = \frac{P_2}{2} = \frac{P_3}{3} = \frac{P_4}{4} = \frac{P_5}{5} = \frac{P_6}{6} :$$

$$P_2 = 2P_1 ; P_3 = 3P_1 ; P_4 = 4P_1 ; P_5 = 5P_1 ; P_6 = 6P_1 :$$

$$P_1 + P_2 + P_3 + P_4 + P_5 + P_6 = 1 :$$

$$P_1 + 2P_1 + 3P_1 + 4P_1 + 5P_1 + 6P_1 = 1 :$$

$$P_1 = \frac{1}{21} : \quad 21P_1 = 1 :$$

$$P_2 = \frac{2}{21} ; P_3 = \frac{3}{21} ; P_4 = \frac{4}{21} ; P_5 = \frac{5}{21} ; P_6 = \frac{6}{21} :$$

:

	1	2	3	4	5	6
	$\frac{1}{21}$	$\frac{2}{21}$	$\frac{3}{21}$	$\frac{4}{21}$	$\frac{5}{21}$	$\frac{6}{21}$

: -3

$$P(A) = \frac{2}{21} + \frac{4}{21} + \frac{6}{21} = \frac{12}{21} = \frac{4}{7}$$

: -4

$$P(B) = \frac{1}{21} + \frac{3}{21} + \frac{5}{21} = \frac{9}{21} = \frac{3}{7}$$

$$P(C) = \frac{2}{21} + \frac{3}{21} + \frac{5}{21} = \frac{10}{21}$$

2

$$P_6, P_5, P_4, P_3, P_2, P_1 :$$

6 5 4 3 2 1

$$p_1 = p_3 = p_5 = M : \quad P_2 = P_4 = P_6 = L :$$

$$P_1 + P_2 + P_3 + P_4 + P_5 + P_6 = 1 : \quad L = \frac{1}{2}M :$$

$$M + L + M + L + M + L = 1 :$$

$$L = \frac{1}{2}M : \quad 3M + 3L = 1 :$$

$$M = \frac{2}{9} : \quad \frac{9M}{2} = 1 : \quad 3M + \frac{3}{2}M = 1 :$$

$$L = \frac{1}{9} : \quad L = \frac{1}{2} \times \frac{2}{9} :$$

	1	2	3	4	5	6
	$\frac{2}{9}$	$\frac{1}{9}$	$\frac{2}{9}$	$\frac{1}{9}$	$\frac{2}{9}$	$\frac{1}{9}$

3

$$M = -6(0,1) - 5(0,2) - 4(0,05) + 4(0,4) + 5(0,05) + 8(0,2)$$

$$M = -0,6 - 1 - 0,2 + 1,6 + 0,25 + 1,6$$

$$M = -1,8 + 3,45 = 1,65$$

(2)

$$V = 0,1 (-6 - 1,65)^2 + 0,2 (-5 - 1,65)^2 + 0,05 (-4 - 1,65)^2 + 0,4 (4 - 1,65)^2 + 0,05 (5 - 1,65)^2 + 0,2 (8 - 1,65)^2$$

$$V = 5,85225 + 8,8445 + 1,596125 + 5,329 + 1,081125 + 11,7045 = 34,4075$$

$$S = \sqrt{V} \approx 5,87$$

4

$$E = \{P, F\}$$

$$P(p) = 3p(F) \quad ; \quad P(p) + P(F) = 1$$

$$4P(F) = 1 \quad ; \quad 3P(F) + P(F) = 1$$

$$P(p) = \frac{3}{4} \quad ; \quad p(F) = \frac{1}{4}$$

	P	F
	$\frac{-3}{4}$	$\frac{1}{4}$

5

$$(a; b) \quad E \quad (1)$$

$$1 \leq b \leq 6 \quad 1 \leq a \leq 6$$

$D_2 \backslash D_2$	1	2	3	4	5	6
1	(1; 1)	(1; 2)	(1; 3)	(1; 4)	(1; 5)	(1; 6)
2	(2; 1)	(2; 2)	(2; 3)	(2; 4)	(2; 5)	(2; 6)
3	(3; 1)	(3; 2)	(3; 3)	(3; 4)	(3; 5)	(3; 6)
4	(4; 1)	(4; 2)	(4; 3)	(4; 4)	(4; 5)	(4; 6)
5	(5; 1)	(5; 2)	(5; 3)	(5; 4)	(5; 5)	(5; 6)
6	(6; 1)	(6; 2)	(6; 3)	(6; 4)	(6; 5)	(6; 6)

36

$$\frac{1}{36} (a; b)$$

$$A = \{(1 ; 1), (2 ; 2), (3 ; 3), (4 ; 4), (5 ; 5), (6 ; 6)\}$$

$$P(A) = \frac{6}{36} = \frac{1}{6} :$$

B -

$$B = \{(2 ; 1), (3 ; 1), (3 ; 2), (4 ; 1), (4 ; 2), (4 ; 3), \\ (5 ; 1), (5 ; 2), (5 ; 3), (5 ; 4), (6 ; 1), (6 ; 2), \\ (6 ; 3), (6 ; 4), (6 ; 5)\}$$

$$P(B) = \frac{15}{36} = \frac{5}{12} :$$

6

$$\{1 ; 2\}, \{1 ; 3\}, \{1 ; 4\}, \{1 ; 5\}, \{2 ; 3\}, \{2 ; 4\} \\ \{2 ; 5\}, \{3 ; 4\}, \{3 ; 5\}, \{4 ; 5\} .$$

10

A (1)

$$A = \{\{1 ; 3\}, \{1 ; 5\}, \{3 ; 5\}\}$$

$$P(A) = \frac{3}{10} :$$

B (2)

$$B = \{\{1 ; 2\}, \{2 ; 3\}, \{3 ; 4\}, \{4 ; 5\}\}$$

$$P(B) = \frac{4}{10} = \frac{2}{5} :$$

6

C (3)

$$C = \{\{1 ; 5\}, \{2 ; 4\}\}$$

$$P(C) = \frac{2}{10} = \frac{1}{5} :$$

: $P(A \cap B)$:

$$P(A \cup B) = P(A) + P(B) - P(A \cap B) \quad :$$

$$P(A \cap B) = P(A) + P(B) - P(A \cup B) \quad :$$

$$P(A \cap B) = 0,05 + 0,7 - 0,6 \quad :$$

$$P(A \cap B) = 0,15$$

: P_4, P_3, P_2, P_1

$$P_4 = P_1 + 3r \quad ; \quad P_3 = P_1 + 2r \quad ; \quad P_2 = P_1 + r \quad :$$

$$P_1 + P_2 + P_3 + P_4 = 1 \quad :$$

$$P_1 + P_1 + r + P_1 + 2r + P_1 + 3r = 1 \quad :$$

$$4P_1 + 6r = 1 \quad \dots (1) \quad :$$

$$\mu = 3 \quad :$$

$$1 \cdot P_1 + 2 \cdot P_2 + 3 \cdot P_3 + 4 \cdot P_4 = 3 \quad :$$

$$P_1 + 2(P_1 + r) + 3(P_1 + 2r) + 4(P_1 + 3r) = 3 \quad :$$

$$P_1 + 2P_1 + 2r + 3P_1 + 6r + 4P_1 + 12r = 3$$

$$10 P_1 + 20 r = 3 \quad \dots (2) \quad :$$

$$\begin{cases} 5 \times & 4 P_1 + 6 r = 1 & : & (2) & (1) \\ -2 \times & 10 P_1 + 20 r = 3 & \\ & \begin{cases} 20 P_1 + 30 r = 5 \\ -20 P_1 - 40 r = -6 \end{cases} & : \end{cases}$$

$$r = \frac{1}{10} \quad : \quad -10 r = -1 \quad :$$

$$4 P_1 + \frac{6}{10} = 1 \quad : \quad (1)$$

$$4 P_1 = \frac{2}{5} : \quad 4 P_1 = 1 - \frac{6}{10} :$$

$$P_1 = \frac{1}{10} :$$

$$P_2 = \frac{1}{10} + \frac{1}{10} = \frac{1}{5} :$$

$$P_3 = P_2 + r = \frac{1}{5} + \frac{1}{10} = \frac{3}{10}$$

$$P_4 = P_3 + r = \frac{3}{10} + \frac{1}{10} = \frac{2}{5}$$

9

. 2 3 5 7 11 13 :

:

$\{2 ; 3\}$, $\{2 ; 5\}$, $\{2 ; 7\}$, $\{2 ; 11\}$, $\{2 ; 13\}$, $\{3 ; 5\}$
 $\{3 ; 7\}$, $\{3 ; 11\}$, $\{3 ; 13\}$, $\{5 ; 7\}$, $\{5 ; 11\}$
 $\{5 ; 13\}$, $\{7 ; 11\}$, $\{7 ; 13\}$, $\{11 ; 13\}$

15 :

:

5 7 8 9 10 12 13 14 15 16 18 20 24

:

t	5	7	8	9	10	12	13
	$\frac{1}{15}$	$\frac{1}{15}$	$\frac{1}{15}$	$\frac{1}{15}$	$\frac{1}{15}$	$\frac{1}{15}$	$\frac{1}{15}$

14	15	16	18	20	24
$\frac{1}{15}$	$\frac{1}{15}$	$\frac{1}{15}$	$\frac{1}{15}$	$\frac{1}{15}$	$\frac{1}{15}$

$$P(t=5) = \frac{1}{15}, \quad P(t=7) = \frac{1}{15}, \quad P(t=8) = \frac{1}{15}$$

$$P(t=9) = \frac{1}{15}, \quad P(t=10) = \frac{1}{15}, \quad P(t=12) = \frac{1}{15}$$

$$P(t=13) = \frac{1}{15}, \quad P(t=14) = \frac{1}{15}, \quad P(t=15) = \frac{1}{15}$$

$$P(t=16) = \frac{2}{15}, \quad P(t=18) = \frac{2}{15}, \quad P(t=20) = \frac{1}{15}$$

$$P(t=24) = \frac{1}{15}$$

:

$$\begin{aligned} \mu &= 5 \times \frac{1}{15} + 7 \times \frac{1}{15} + 8 \times \frac{1}{15} + 9 \times \frac{1}{15} + 10 \times \frac{1}{15} + 12 \times \frac{1}{15} \\ &+ 13 \times \frac{1}{15} + 14 \times \frac{1}{15} + 15 \times \frac{1}{15} + 16 \times \frac{2}{15} + 18 \times \frac{2}{15} \\ &+ 20 \times \frac{1}{15} + 24 \times \frac{1}{15} \end{aligned}$$

$$\mu = 5+7+8+9+10+12+13+14+15+32+36+20+24$$

$$\mu \approx 13,7 \quad : \quad \mu = \frac{205}{15} \quad :$$

:

$$V = \frac{1}{15} (5 - 13,7)^2 + \frac{1}{15} (7 - 13,7)^2 + \frac{1}{15} (8 - 13,7)^2$$

$$\begin{aligned}
& + \frac{1}{15} (9 - 13,7)^2 + \frac{1}{15} (10 - 13,7)^2 + \frac{1}{15} (12 - 13,7)^2 \\
& + \frac{1}{15} (13 - 13,7)^2 + \frac{1}{15} (14 - 13,7)^2 + \frac{1}{15} (15 - 13,7)^2 \\
& + \frac{2}{15} (16 - 13,7)^2 + \frac{2}{15} (18 - 13,7)^2 + \frac{1}{15} (20 - 13,7)^2 \\
& + \frac{1}{15} (24 - 13,7)^2
\end{aligned}$$

$$\begin{aligned}
V = & \frac{75,69 + 44,89 + 32,49 + 22,09 + 13,69 + 2,89 + 0,49}{15} \\
& + \frac{0,09 + 1,69 + 10,58 + 13,98 + 39,69 + 106,09}{15}
\end{aligned}$$

$$V = \frac{364,35}{15} = 24,29 :$$

$$S = \sqrt{V} = \sqrt{24,29} \approx 4,9 :$$

$$\begin{array}{rcl}
& & \boxed{10} \\
0 ; 1 ; 2 & : & S \quad -1 \\
& & -2
\end{array}$$

t	0	1	2
	$\frac{2}{7}$	$\frac{4}{7}$	$\frac{1}{7}$

$$\begin{array}{c}
H_4 , H_3 , H_2 , H_1 : \\
F_3 , F_2 , F_1
\end{array}$$

$\{H_1, H_2\}, \{H_1, H_3\}, \{H_1, H_4\}, \{H_1, F_1\}, \{H_1, F_2\}$
 $\{H_1, F_3\}, \{H_2, H_3\}, \{H_2, H_4\}, \{H_2, F_1\}, \{H_2, F_2\}$
 $\{H_2, F_3\}, \{H_3, H_4\}, \{H_3, F_1\}, \{H_3, F_2\}, \{H_3, F_3\}$
 $\{H_4, F_1\}, \{H_4, F_2\}, \{H_4, F_3\}, \{F_1, F_2\}, \{F_1, F_3\}$
 $\{F_2, F_3\}$

.21

3

12

6

$$P(t=0) = \frac{6}{21} = \frac{2}{7} :$$

$$P(t=2) = \frac{3}{21} = \frac{1}{7} \quad P(t=1) = \frac{12}{21} = \frac{4}{7} \quad (3)$$

$$\mu = 0 \times \frac{2}{7} + 1 \times \frac{4}{7} + 2 \times \frac{1}{7}$$

$$\mu = \frac{6}{7} :$$

: -3

$$V = \frac{2}{7} \left(0 - \frac{6}{7}\right)^2 + \frac{4}{7} \left(1 - \frac{6}{7}\right)^2 + \frac{1}{7} \left(2 - \frac{6}{7}\right)^2$$

$$V = \frac{72}{343} + \frac{4}{343} + \frac{64}{343}$$

$$V = \frac{140}{343}$$

$$\sigma = \sqrt{V} \approx 0,64 \quad :$$

